Is Hans Rosling positive or negative about the future of the world’s population?
Positive

How has the world’s population changed since 18007 Give figures and years. What caused this?
1300 = 4 billion Drastic increose brought about by the Indwstriol Revolution
1200 = 2 bilion

~1950s - 2000 = &4, 5,6, F billion

2023 - { billion
Where has most of this growth occurred?

Countries in Asia e-g. Bwngmo\es\n

What reasons does Mr Khan give for wanting to have just two children?
I£ e had more he wouldn't be oble £0 ogord it - with L Kids, they can buy what they
wont

How did Taslima Khan promote family planning in her job as a government social worker?
Ogers agdice, morod suppoft, ond 0. ronge of controceptives

BONUS: Can you identify any forms of gender inequality in the sequence?
The womoun Saws It iS wp+0 her partner i1f they howe ony move chldren. She says although she
QoeS through the pain 'if ne woundts o. oY whot can | do?"

What was the average number of babies per woman in the world in 1962? What about 2012?
1963~ 5
20122 2.5

Is there a link between female education (the number of girls going to school) and falling fertility rates
(number of births going down)?

AS females are more edueated , £ewer want 10 oet mouried young ound.they
wnderstanck problems associoted with lowger fomilies

T female educotion = | gertility rotes
How have female aspirations (hopes and dreams) changed in the video? Give two examples.

Females are better educoded. So wout €0 get mouried. Lodter ownd.£OUUS Onthelr edumcation
ond gerking o. job e-g- a doctor
What has happened to child survival rates in Bangladesh in recent years? Why?

Chuld SWVivol rokes Wowe improweck dut to advancemenks in heaitihcare

What has happened as a result of this?

Poureds howe reausec now thok their ciuiduen owe not Likely o due (n chilokhood
(Swosequently, birth rates J - awerage of L Umloren per womon)

What is estimated to happen to older people in the future? Why?

Thare Wil be more older people in the fukwre (ageing populakion) as the cwld
popukation o the wortd remowns ~2bn (WL to (ower NGOk Mortakity raxes) so
older age groups wilk grow in Size with Hime.



How was the world’s population distributed in 20127

N+S Amexico = 1bn Ny

Euwrope = Lbn
Agrica = Abn

Asia + OCeowa = Y bn
What does Hans Rosling predict the distribution will look like in 20507

+4on in Agrico 1125

+ Lon in ASIO+ 0CROWN
What about 21007?

+ 2bn tn Agrica 45

What could be a problem with this population growth?

Access 1o resowrces

What does Andre, a man living in rural Mozambique, desperately need? Why? .
A bicycle - to cowry heower 1000S 10 Market o moke more money , cow trowel 10 FINCL WOrK,

if they get SICK thay Com rRACK o healtih Chiswe T +ime
Does Hans Rosling think that the poorest African nations can escape poverty in the future?

ves

What is the main problem associated with population growth?

It (s STgnigicoukly Contribuking 1o cuimode chonge

Who is emitting the most carbon dioxide?

The richest billion(s) by burning gossil fuels



